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QUESTION 1

Before the optical power commissioning of an ROADM board, you need to configure virtual optical-layer services.
Otherwise, the ROADM board blocks all wavelengths by default.

A. True
B. False

Correct Answer: B

QUESTION 2
Which of the following statements about avoiding the generation of discrete trails are correct?
A. Use the trail function for configuration.

B. For services configured on a per-NE basis, search for trails on the NMS to ensure that the service configurations are
complete and standard.

C. A fiber cut or switching test must be performed on the trail with protection routes to ensure that the configuration is
complete and standard.

D. Guide users to learn service configuration specifications.

Correct Answer: C

QUESTION 3

In the scenario where the non-convergence OTU processes OTN standard signals, both A and B are WDM sites. After
receiving the OTUk_TIM alarm on the client side, the OTU board at station A sends the OTUK_BDI alarm to the
upstream. When the TIM follow-up action is disabled, the alarm is no longer transmitted to the downstream. When the
TIM follow-up action is enabled, an SF event is generated. The WDM side of the OTU board at station B reports the
ODUk_PM_AIS alarm, and the ODUk_PM_AIS alarm is transmitted to the downstream. The client equipment reports
this alarm. After the WDM side of the OTU board at station B receives the OTUK_TIM alarm and the TIM follow-up
action is disabled, the alarm is no longer transmitted to the downstream. When the TIM follow-up action is enabled, an
SF event is generated. After the client side of station B processes the SF event, the client equipment reports the
ODUk_PM_AIS alarm.

A. True
B. False

Correct Answer: A

QUESTION 4

Which of the following is not a PW APS switching condition?
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A. A warm reset is performed on the board.
B. The board software is faulty.

C. MPLS_PW_SF

D. A cold reset is performed on the board.

Correct Answer: A

QUESTION 5

Which of the following statements about the line fiber quality monitoring performance parameters is wrong?

A. The pulse width of emitted optical pulses varies according to monitoring modes, and affects the detection distance
and measurement precision. A greater pulse width provides a larger dynamic range, longer detection distance and

better measurement precision.

B. When the pulse width increases, the light emitting time increases and consequently a larger energy is obtained. This
means that a larger dynamic range can be acquired but also larger dead zones will result.

C. Measurement is performed multiple times within the detection time. The average value is obtained based on the
measurement result to improve the measurement precision. The actual duration from the time when a detection event
starts to the time when the detection results are returned will be longer than the Detection time.

D. The total fiber loss will affect the detection distance and dynamic range is fixed for the same detection mode.
Therefore, a larger total fiber loss indicates a smaller detection distance.

Correct Answer: A
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